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ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 
questions from the remaining questions. 

1. 	Mr. Anil Kumar is employed in a government 14 
college. He receives salary of Rs. 40,000 per 
month, Dearness Allowance 20% of salary. 
House Rent Allowance Rs. 8,000 per month. 
Employer also paid his telephone bill of Rs. 6,000. 
He paid house rent Rs. 10,000 per month. He 
was provided a car with an engine capacity of 
1600 cc for his .office use. He also gets facility of a 
servant who has been appointed by Anil himself. 
The servant's salary is Rs. 2,000 per month which 
is paid by the employer. 

Compute his taxable income from salary for the 
assessment year 2011-12. 
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2. 	(a) Explain the term 'capital asset' and specify 6, 6 

the assets that are not included in it. 

(b) Explain the tax rules for valuation of rent 

free unfurnished residential house provided 

by the employer for inclusion in the salary 

income of the employee concerned. 

	

3. 	Explain as to how the tax liability of an assessee 12 

is determined with reference to his residence. 

	

4. 	Shri Ram Lal owns a house, half of which is let 

out for residential purposes on rent of Rs. 16,000 

per month. Other particulars of the whole house 

are as follows : 

Rs. 
(i) Municipal valuation 	3,75,000 
(ii) Standard Rent 	 4,50,000 
(iii) Municipal Taxes paid 	60,000 
(iv) Repairs 	 15,000 
(v) Interest on amount 	28,000 

borrowed for repairs 

Compute his taxable income from house property 12 

for the assessment year 2011-12 assuming that the 

remaining half of the house is used for his own 
residence. 

5. 	State the rules regarding taxation of 	 6, 6 
(a) Dividends 

(b) Tax free commercial securities 
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6. 	Write short notes on any two of the following : 	6, 6 

(a) Set off and carry forward of capital losses. 

(b) Deduction in respect of Life Ins. Premium, 
provident fund, etc. under Sec. 80 C 

(c) Best Judgement Assessment under Sec. 144 

(d) Tax free perquisites. 

	

7. 	(a) Define 'agriculture income' and state its 8, 4 
kind. 

(b) Compute Shri Ramesh Chandra's gross 
total income, who is a non resident, from 
the following data : 

Rs. 
Income from agriculture in 30,000 
Pakistan 

Salary received in India but 12,000 
services rendered in Iraq 
Income from business 	12,000 
carried on in India 
Interest on bank deposits in 6,000 
Sri Lanka credited to his 
bank a/c there itself 
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1. 	5ft 3T1-9-  TITR Lch TR-Trtr 	 t i 3t-4 	14 

40,000 T. mrd R-Itda., 20% 1TeT1TI ITT 2..TT 8,000 T. 

mid 	f-*-Trzir 1.17f 	t I 11414c-ii 	6,000 T. 

	

TT 	fWzif I ati i Hchl-1 

TT 1--*-Trzrr 10,000 T. if'cr TTR4 t 	 a-igk 4 31:17h 

Fc-R 1600 cc 011 	, c4->it 	f   t I 	 

	 Tlf-441 	m 	 t -f14 

piT t I 	rtai 2,000 T. 11 f 4-11(.1 t fqTf 

raff F-14 *11 g 	fwzrr 	t 
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2. (a) 	̀I-AM-d Ttc(M. ' ch1 3-1-441-MT ch 0611t9e-If -r177 6, 6 

9211 	4(-11*-141 cht 

vrrfTro 	fWzil \Yin I 

(b) f*-71-zu 	3-RaTt 	fTdR4 T-21Tff, 

.4.71 f- zrT 	 t 	14 	1—f 	fCi 

 pia m 	t f9-zrit 	oqRs4n 1fA7 

3. ct1 1  1-)(qicti 	T c 	 7rzrc dti 	12 

f9-qm T9-1F 	34m-R -crT f-*74 9-wr-{ fffqiftu fwm \midi 

t I 

4. sA tI 4-1 	 fq74wr 31T11 ftR4T 	12 

-Tr4 16,000 T. 	-47T7 ITT -f-TIT •-IT t I -34" 

 4 3-11* fq-qT17 PP-16 	ruci t : 

T. 

(i) 	cichi ItrMch-► 	3,75,000 

(ii) f--7-1zTT 	 4,50,000 

(iii) 04)1 cht f-R211' 	 60,000 

(iv) 1:171=1:1ff 	 15,000 

(v) TRiTIU 	ztrr-{ c11 	28,000 

Trt 'ER -&1-7 

4) 	Hcbil chi Ala 31rm ITT 1 ate 	347-4 

f9-4r4 	rcvi 	 3 	f TT, cht-fff4iTuT abf 2011-12 

4-► i- ► -f *I'm 	cht—trzf 3Trzr 1-)1 qul-H 
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5. 	F-H-iroroci ch ,&iq-r9 44%ft f9-z-lit ch►  3k mfr : 6, 6 

(a) 5 a 	.5 

(b) i ow-iiRch 

	

6. 	-14-1 ✓ 14 	trt4 	R-Tu rd-Irulifffftg7 : 	6, 6 

(a)It-41TM Vf-Tzff .1114 •211.  3-Tr4 	\311-111 

(b) 5 err 411-4-NH, rif-T3Er 	3Trfq 	 

80 C i 3-faltd. --at I 

(c) Tiqb1:1 -r-iufzi cht-f91th17 917T 144 

(d) choAchi 31-V194 (perquisites) 

	

7. 	(a) Trzi all-q 	4rOTTITE 	7zrk Lriti -9--*--r4 8, 4 

--1-f-A7 

(b) 	311- #7i 	cr-) il(--fiq-Rtt 	f-p--1 	Oci 

fa---4Tur 	-1011('T 	3-Trq m1 4 ► u►1►  "Af—A7 ►  

30,000 

12,000 

12,000 

6,000 
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